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[image: image189.wmf]î

í

ì

=

+

+

=

+

+

1

4

2

1

2

c

b

a

c

b

a

 בעלת אינסוף פתרונות: אם 
[image: image190.wmf]c

 משתנה 

    חופשי אז 
[image: image191.wmf])

2

1

(

3

1

c

a

+

=

, 
[image: image192.wmf])

7

1

(

3

1

c

b

-

=

.

_1168107414.unknown

_1168111713.unknown

_1168526449.unknown

_1168528056.unknown

_1168528566.unknown

_1168530395.unknown

_1168530738.unknown

_1168531918.unknown

_1168532051.unknown

_1168531083.unknown

_1168531120.unknown

_1168530757.unknown

_1168530454.unknown

_1168529509.unknown

_1168529667.unknown

_1168530125.unknown

_1168529535.unknown

_1168528608.unknown

_1168529348.unknown

_1168528240.unknown

_1168528429.unknown

_1168528475.unknown

_1168528332.unknown

_1168528131.unknown

_1168528152.unknown

_1168528101.unknown

_1168527518.unknown

_1168527804.unknown

_1168527886.unknown

_1168527547.unknown

_1168526705.unknown

_1168527246.unknown

_1168526650.unknown

_1168145892.unknown

_1168146392.unknown

_1168147169.unknown

_1168147719.unknown

_1168148181.unknown

_1168148554.unknown

_1168148768.unknown

_1168148800.unknown

_1168148411.unknown

_1168147829.unknown

_1168148013.unknown

_1168147752.unknown

_1168147777.unknown

_1168147303.unknown

_1168147230.unknown

_1168146703.unknown

_1168147102.unknown

_1168147130.unknown

_1168146936.unknown

_1168146582.unknown

_1168146702.unknown

_1168146563.unknown

_1168146084.unknown

_1168146146.unknown

_1168146344.unknown

_1168146124.unknown

_1168145932.unknown

_1168145954.unknown

_1168145917.unknown

_1168145467.unknown

_1168145727.unknown

_1168145780.unknown

_1168145854.unknown

_1168145758.unknown

_1168145611.unknown

_1168145685.unknown

_1168145587.unknown

_1168144303.unknown

_1168144803.unknown

_1168145054.unknown

_1168144338.unknown

_1168112552.unknown

_1168113279.unknown

_1168113338.unknown

_1168112345.unknown

_1168109768.unknown

_1168110660.unknown

_1168111523.unknown

_1168111697.unknown

_1168111702.unknown

_1168111648.unknown

_1168110748.unknown

_1168110794.unknown

_1168110816.unknown

_1168110833.unknown

_1168110763.unknown

_1168110695.unknown

_1168110399.unknown

_1168110558.unknown

_1168110633.unknown

_1168110493.unknown

_1168110074.unknown

_1168110156.unknown

_1168109789.unknown

_1168108123.unknown

_1168109321.unknown

_1168109425.unknown

_1168109494.unknown

_1168109350.unknown

_1168109080.unknown

_1168109265.unknown

_1168108464.unknown

_1168107706.unknown

_1168107992.unknown

_1168108073.unknown

_1168107796.unknown

_1168107563.unknown

_1168107645.unknown

_1168107499.unknown

_1168098614.unknown

_1168101913.unknown

_1168105604.unknown

_1168106462.unknown

_1168106844.unknown

_1168107363.unknown

_1168106513.unknown

_1168105669.unknown

_1168106297.unknown

_1168105655.unknown

_1168102786.unknown

_1168103029.unknown

_1168103744.unknown

_1168105445.unknown

_1168103707.unknown

_1168102832.unknown

_1168102262.unknown

_1168102734.unknown

_1168102173.unknown

_1168100550.unknown

_1168101096.unknown

_1168101421.unknown

_1168101788.unknown

_1168101247.unknown

_1168100923.unknown

_1168100939.unknown

_1168100626.unknown

_1168098979.unknown

_1168099929.unknown

_1168100526.unknown

_1168099883.unknown

_1168099017.unknown

_1168099081.unknown

_1168098880.unknown

_1168098921.unknown

_1168098812.unknown

_1168093868.unknown

_1168096866.unknown

_1168096925.unknown

_1168098141.unknown

_1168098432.unknown

_1168097643.unknown

_1168096884.unknown

_1168094839.unknown

_1168095396.unknown

_1168095962.unknown

_1168095994.unknown

_1168094896.unknown

_1168094201.unknown

_1168094214.unknown

_1168093968.unknown

_1168094032.unknown

_1168093498.unknown

_1168093685.unknown

_1168093747.unknown

_1168093326.unknown

_1168093402.unknown

_1168093497.unknown

_1168093378.unknown

_1139324802.unknown

